seEk il

= < =
s j? = SHMOFEOAOH
(Bk) =EFHE Z8RES  T0-0000-0000-0000
A R e fesar e VAVANSE =Y Se e an
N %\A EEI%\ % N B N
& s, fr mREssEALT | oan 0000
(L, * A OOMmOOHOTEOEO=S
BiEES OOO0O0O-O0-0000
FHE - FHELZoLEER—E LTSN,

XEELNHNIEAERERES (EE) 2REL TLLI W,

FROEBYERLET,
EREE ¥ | s i 51 7| 8io0io0
CHEBRE VDA BERED)
B % & % (M)
SHSEEOOTE 1,298,000
. - \
ik (RE) B SHOFORAR < mweamysb L - TEERRRERTH.
BEBZEA0%DATE. ZDOMDOITE - ZFEIFTERHZRLRAL TS0,
[ 110%) ORE#IBETT, g
AN
R U B (10%) D 129,800
& L/ 1427800
SEERTE KEHLAEL D - 12512 EA) ZREEICWT 2 HERBE] K ETT,

5 BT (FIFE) 570,000
SEHERE 857,800
A o ] e

00 £ | 00 %k @@ - OEEES 0000000
(7 U HF) NN
D4 % ANTEERF A
EEEROIEYEE [XFHNE2EE T 256 FH]
= £ % OOBEFEOOO = 0000-00-0000
B oY % OO0EOOO00 = 0000-00-0000




